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ECONOMICS (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written 1n the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself,

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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Qug—A / SECTION—A

1. fafafag & @ @ 799 1 IR IO 150 Tieel B DT
Answer the following questions in about 150 words each : 10x5=50

(a) WTER Ggad b Hizldd ud diclkug Sl f@rar zem w1 wud RIS @ g wEEd B T AEia g
- gftfa fera H fufd saves w9 8 aerm 6 form fefa s gt wd @ o ol
feufa o oft ten & B 37 =@ fifse

State Marshallian and Walrasian stability condition of market equilibrium. Do
you think that existence of Marshallian stability necessarily ensures Walrasian

stability and vice versa? Explain.

(b) &1 i dim Fima E8 w1 FHE i)
State Bain’s limit price theory.

(c) Yarfaa i g @ fawa o 9% A0 e Hif
Explain kinked demand curve theory with the help of diagram.

(d) FR AGo Tho AR FtafeR Tdo THo Il & TSN AR Hifss Hiead =1 glq &7

What are the fiscal and monetary implications of vertical IS and vertical LM
curves?

() Taam i Feer @ Fadl B w1 g i
Examine Kaldor and Kalecki theory of distribution.

2. (a) TE FAIHh Wﬁﬂﬁméﬁwe{?ﬁmﬁﬁiﬁ?aﬂtﬁw dh gararfedl i feufa =
gigrela R e 81 == S|

“The advent of New Classical Macro-economics has tended to upset the apple-

cart of Keynesian and to a great extent, that of the Monetarists.” Discuss. 20

(b) Tosg glasn =R A9 wpEEdn W {daRey)

Write on Prisoners’ dilemma and Nash equilibrium. 15

(c) "zl < ufmmor e ¥ B F YR # wiim avi fifse qen st aimm foerd |
STchl GHTAA/ AGH AT FdI8T |
Discuss jn brief Friedman’s restatement of the quantity theory of money and
find its similarity/difference with the classical quantity theory. 15

3. (a) YaNI-gaita frfaw o & gEEE tg Ta-dhiard IUrE H 3T i |
Distinguish between Monetarist and Neo-Keynesian approaches to
expectation-augmented Phillips curve. 20
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(b) HI ARG Sl I g7 ISR ALHTEAT H YERRIG T UER a9 Sl il Higsw Hifa =1 ge
F B4 9niee? FHem wa oAnldm wgte W ogwus Tfgay] =1 Twmisey

Should inflation targeting be main plank of monetary policy of a central banls

in emerging market economies like India? Show its implications on investment
and growth., 15

() THA AR ¥ 1 ac9d 87 THH Hebad 3T SH& =h 991 [0k 27 HHSEY]
What i1s a Lemon Market? What is the role of signalling and screening in it?
Explain. 15

4. (a) STEHT GIAT E gl 87 g8 TohE YT HiZgl F¥9 ug AR SEBaAdl hi fTuld IJeqd R gedl
27 Tad=r1 SNy

What 1s asymmetric intormation? How could 1t lead to adverse selection and
market failure? Discuss. 20

(b) WiEiE wHEA &3 % gy ¥ arfwe gfshls # sgunon # SAren $is)

[llustrate the notion of perverse subsidy 1n the context of natural resource
sector. Io

(c) Torfl wdegaran & 9™ U0 U 9EeHES 99 % 99l 61 udl&o) i |

Examine the effects of public expenditure on the development process of an
economy. 1o

WYus—B / SECTION—B

5. fafafaa 4 ¥ 9% 999 1 IR @90 150 Tdl 1 SN
Answer the following questions in about 150 words each : 10x5=50

(@) ST-3A TG ARARG-3AM & o4 fadeq Fifvw| w1 ameE dar-siied giga sTdih-3d
#) AT IR Gehdl ¢ == SIS

Lifferenuate between inter-Indusiry and Intra-lndustry trade. can standard
H-O model explain intra-industry trade? Discuss.

(b) Tl gd Fem 1 efm 6 deaqerd Bl @ e fisg
Explain Dunning’s eclectic theory of FDI.

(c) FUTREH] 99 § JSi-3HTHR & ATqieh-3AN Higd =hl ITE] hHIWT |

Explain Brander-Krugman model of intra-industry trade in an oligopolistic

market.

(d) T R FokiHa g IREedA1 H GHIEY] F1 Hghg T % oy TEasht Bl &7 AT2T |

Explain Kuznets’ inverted ‘U’ hypothesis. Is growth good for the poor? Explain.

(e) T Tmetl # enfds wafg, I9R wafg # &0 *t el 27 faa=mn hifs
Under what conditions economic growth reduces employment growth?
Discuss.:
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6. (a) UghE 3 9 F O Hife, T sreferarn T UH AR W W N W w8 B o wat
gy & Ghldol Hed Ui =afth 399N & IR FR YT HLAl 2

Describe the growth path, which once the economy attains it, will give a higher
level of per capita consumption than any other growth path for all time. 20

(b) ISHUET & A qeATR fae v wed # aredfas Aeighl R A @l ofi GSh % s
qiae B ghe SN T 1 AT A4S § qhAH S ARt T o 7 9fg e anafas gsh
g H Al B GHTEU

“Technical progress in capital-intensive sector almost invariably reduces the
real wage rate and increases the real return to capital. Technical progress in
labour-intensive sector will lead to increase in real wage rate and decrease in

the real return to capital.” Explain. 15

(c) A fanfa sdegae ¥ wiedle & T8 W fova =amr wea d @ iy 27 fd=m $1fvm)

What 1s the stalemate in the WTO about subsidies in less-developed
economies? Discuss. 15

7. (a) 48 @ 1% 8 Gehdl © Toh THaETa- AT wale 30 % SR wal B ufded = 2 e 2w % fag
fede el ©, 98 230 o ged 7 7 % B <9 % wed #, @ w1 1 Ty Hifvw

“The argument that export-biased growth may turn the terms of trade
unfavourable to the country and hence may not be beneficial, is applicable in
the case of a large country and not a small country.” Explain. 20

(b) WeH-EA Y@t <l weal W Tl sielerawyl & g & &l & gienfya il w@ yrae-
Ao % "1 & H-giY gRehiid @ SRS % & o ded A Aifdma gwe s
With the help of Salter-Swan diagram, define the zones of disequilibrium and
assign policy prescriptions for the situations pertaining to unemployment and
inflation vis-a-vis BOP deficit. 20
(c) IEHIEGHE TdEHdT & R T ARA~EH o =Faq - yama fagr< =1 fad=m fifsg)

To counteract under-development stagnation, discuss Leibenstein’s critical
minimum effort theory. 10

8. (a) YTAH-UeH FHMEISH & YRl R A9 I97H 1 87 faa=mn i)

What are the elasticity and absorption approaches to BOP adjustment?
Discuss. 20

L4

(b) UGHUI-3E SUHHAT FHY I (W) ¥ e g (YEuui-e) @ Qa1 sieferaey
(Y@esdt) <hl Bl 98 e § Sl § Si9 STy sgfadl i Sl 3113 a9 3YHT-TR 37
H G:gHY ol SeEl o4 a9 Sid 8| fad=er Hifs

“Pollution-income progression of agrarian communities (clean) to industrial
economies (pollution intensive) to service economies (cleaner) would appear to
be false if pollution increases again at the end due to higher levels of income
and consumption of the people at large.” Discuss. I's

(c) <438 & e foemg miga § feprst it Ta = Geha i

Indicate the Ricardo legacy which is inherent in the Lewis model of economic
development. 15
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